N EMWIR TS — FHAFERITEFTER
* 7TH15BE CICPFFHETDH 2 ICEDZEE L TCRDET

B | BI5 | &7 75 B |iE i | #&7 (LS
930 [11:45|TD v CfR | AVTRHE 930 [11:30|&nr&LUL/INVIY
9:30 | 11:30|155k 10:00 | 1530 |5 >< 5FCR/INVH=E
9:30 [11:30|ELmDiTSIAE 19 || 1230 [ 1530 | KEE (HITEDR)

1 |B|1230(1330|MO5T+1 X 13:30 [ 1730 |d=LNEP /H=E
12301530 |KEE (BHIFEDH) 16:00 | 21:00 | Y a2 ZEEH=E
14:00| 16:00 |5 NdDUIRDEL) 9:00 [11:00|&&FEFY AT —=D)b
18:00[21:00|EY XY —(£SEK) 10:00 | 1200 |/l ERB=AITI—3R
9:00 |12200|)IIED UV X (2K 20 || 11:00 [1200(SAM I YUN | DYH—+

> |w 10:00(11:30 | EEBEE ZHICIZDRBEDEE 1330 [1630|/\RXF)IL =
1300|1600 (Z&LEADST (F8K) 14:00 | 1700 |EYRY —X(SEK)
19:00| 2000 | NI BT A X (AR 9:30 [11:30 |£onDETEKIE
930 [11:30|TEHEE HE | TASA 10:00 | 11:00 [56<ERFTvITFT YR

3 |k 13:30[ 1530|N\ENEFR 2o |7 10:00 | 12:00 | EERIE (X ~F AfR)
1430|1830 [EXEB 12:30 [ 1330 |ROPH 1 X
16:30[19:30| Y 2 — PKIBH=E 1330 | 1530 |XRE&
10:00(11:00|5<E2FT v TFTVYR 1800 | 21:00 |[E>YRY — X (SEK)

4 |*x 1115(1215(=ZmHL—Z2VT 900 [1200(NEDLYX (£8)
1300|1500 (Z2&L@ADST (F8K) 900 (1200 |FBEH=E
17:30[21:00 | &lI555% 930 [11:30[FHEH=E
9:00 [1200|ED2LYX (£ 10:00 | 11:00 |03 kU 1KE
9:30 [11:30|3DKUL/N\NVY Y 23 || 1300 [16:00 (ZXRAD ST (£3K)

5 |£[11:830(1530(7#HUF 13:00 | 15:00 )1l £ESCD
1330|1730 = LWEP JH= 13100 [1500|xTLCH
16:00|21:00(Y 1 Z—PEEH=E 13:00 | 16:00 |/ \AFFE=
9:00 [11:00|EAFF v XI—D) 19:00 | 2000 |"h oY1 X
930 (1230 |zE=#H=E = 10.00 [11:00(|ROITPRT v T

6 |+ 10:00(11:00|ZNCTHZIE o4 |k 1330 [ 1530 |WWE W EFE
1000|1200 (I ERB=AI—2R 14:30 [ 1830 |EREB
1330|1630 |z£H=E 2 16:30 | 19:30 |V 2 Z PKIBA=E
14:.00[17:00|EY RS —(£SEK) 10:00 | 1200 | XVEBF

7 _18[17:00[20:00 |RILEH FKEE 10:00 [ 1100 [6<ERFT v ITFT VR
9:30 | 11:30 | LanDiTE IR E 25 |IN| 1115 (1215 (EBHLU—ZVD
10.00|11:00|o<ERTvITFT IR 1300 | 1500 |ZXADST (£8)

s |5 12:30(1330|(MOBH X 17:30 | 2100 | #I555%
1330(1530(7 « 235€> 9:00 [1200(NEDULYX (£80
1330|1530 (KE=& 930 [1330|LEEELHH
1800[21:00|EY RS —X(£BK) 930 |11 30| KL/NVIY
9:00 |12200|)IIED UV X (81K 26 |&| 11:30 | 1530 |4 AU
9.00 [1200|FBH#= 12:30 | 1530 | PHEbX At 7

o |w| 980 | 11:30|FHEH= 12:30 | 16:00 |RILEBHEBUHES
9:30 |12:30|d= UL\VT —FH=E 16:00 | 21:00|Y 1 ZPEEH=E
10:00(11:00|03 U I&xiE 9:00 1000 |&EFEFY T —D)U
1300|1600 |ZFXADI ST (S5 27 || 1000 (1200 (Il ERF=AT—5R
10.00|11:00|ROTPRFT v T 14.00 | 17:00 |[EYRY — X (SEK)

10 |7K| 13:30| 1530 |\ E L\ EFIR 9:30 | 11:30|55k
16:30]|19:30 (I 1 Z PIKIBRH=E 930 [11:30|LonDiTSKE
10:00(12:00|/\ND1 P> T2 29 |B[ 1000 | 11:00 |5<ERT v TF VYR

16 |N|13:00|16:00|ZXLRAD ST (£ 12:30 [ 1330 |ROTH 1 X
19:00[20:00 (KB A X 1800 | 21:00 |[E>Y XY — X (SEK)

17 |k 13:30[1530|NENEFiR 9:00 [1200(NEDLYX (£8)
14:30[ 18:30 | &8 30 |w 1000 | 1100 |2 UL FBCLIEHR
930 [11:45|TD v EfR | AVTRHE 1300 | 1600 |ZXAD ST (£80)
1000|1100 |o<ERTvITFT IR 19:00 | 2000 |["h P HF 1 X

18 | 10:00(12:00|¥ v —T#aFHK 10:00 | 11:00|/\5 > R —)UIKER
1115(1215(ZmLL—2VD 1330 [ 1530 |WWENEFE
1300|1500 (Z2&LADST (£8K) 31 |K| 14:30 | 1830 | EXEE
17:30[21:00 |&I555% 16:30 | 19:830 | Y 2 Z P KRIRA=E

19 |&] 9:00 |12:00ILEJD UV X (8B




